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Choose the correct form of verb to fill in the blank :

Risks come from not what you are doing ?

(1) have known
(2) known

(3) knowing

(4) know

o d € S avf =iv T8 E 2
(1) T

(2) ¥

3) U

(4) H

1[Option ID=31201]
2[Option ID=31202]

3[Option ID=31203]
4[Option ID=31204]

Sl. No.2
QBID:1555042

Choose the appropriate preposition to complete the sentence :

Her request for a transfer was turned
(1) up

(2) for

(3) down

(4) through

2 & A few e &
FY ] OET WY #1 I sEs § o e Wi O AER # e A g |
FYTI ] : T & Ue o YR 1 6T Or € - =9 $ YN W, WeS & TN 9T gyl onf & ey

SUiEd YA & e 4, 14 3y e et # ¥ 99 9ugad 9Tk &1 90 S
(1) = 1 3R 11 &1 w3

(2) Hy= 1 3R 1 <41 7o 3

(3) FuA 1 WE 2, Giese Sy 11 o @

4) TFE]TE S e S

1[Option ID=31245]
2[Option ID=31246]
3[Option ID=31247]
4[Option ID=31248]

Sl. No.3
QBID:1555043

Pick out the correctly spelt word.
(1) impromptu

(2) inprounptn

(3) mpromputue

(4) mproptune

SEae @ fguH Sasy |

1) e




(2) =
(3) =

(4) 3O

1[Option ID=31273]
2[Option ID=31274]
3[Option ID=31275]
4[Option ID=31276]

Sl. No.4
QBID:1555044

Identify the correct indirect speech of the following sentence.

He said to me, "I don't believe you"

(1) He said that he doesn't believe me

(2) He told me that he didn't believe me.
(3) He told me that he didn't believed me.
(4) He told me that he didn't believe him |

T i e T T oo S ER A& T |
(1) =

(2) =g

(3) Hrae

(4) i

1[Option ID=31277]

2[Option ID=31278]

3[Option ID=31279]
4[Option ID=31280]

Sl. No.5
QBID:1555045

Rearrange the following parts of a sentence labelled PQRS to make a meaningful sentence.
P. overflow of powerful

Q. recollected in spontaneous

R. Poetry is a spontaneous

S. feelings - emotions
(1) QSRP

(2) RPSQ

(3) QSPR

(4) SQRP

S B FEAR S @ WS & 7
1) FEm

(2) @m

(3) @

4) #H

1[Option ID=31281]
2[Option ID=31282]

3[Option ID=31283]
4[Option ID=31284]

Sl. No.6
QBID:1555046

Pick out the antonym of 'strength’

(1) meekness

(2) revenge

(3) frailty

(4) <nergy

51 SffEl & T & B UE g B A 7
(1) HuO




(2) Tag
(3) Wy

(4) waq

1[Option ID=31285]
2[Option ID=31286]
3[Option ID=31287]
4[Option ID=31288]

Sl. No.7
QBID:1555047

Choose the correct sentence.,

(1) He had not left, we would have been forced to eviet him
(2) Hadn't he left we would have been forced to evict him.
(3) Had he not left, we would have been forced to eviet him

(4) He not had left. we would have been forced to evict lum.
FRE W T EE w we s mE g 2

(1) o= S

(2) SURI ST

(3) T H &

(4) =m0 &A1

1[Option ID=31289]

2[Option ID=31290]

3[Option ID=31291]
4[Option ID=31292]

Sl. No.8
QBID:1555048

Choose the correct passive voice form of the following sentence.

He may have ecaten the cake.

(1) The cake might have been eaten by them.
(2) The cake may have been eaten by him.
(3) He had eaten the cake.

(4) The cake might have been eaten by him.
Fmfaed § ¥ 9E 990 &1 9949 i |

1) w=if 9 H1Y 7 F |

(2) o= Wy 7 &4 |

(3) == ¥l Wiy F |

(4) == T HY 75 4 |

1[Option ID=31293]
2[Option ID=31294]
3[Option ID=31295]
4[Option ID=31296]

Sl. No.9
QBID:1555049

Pick out the synonym of the following word - 'captivating'.
(1) disappointing

(2) frightening

(3) fascinating

(4) frank

i 4 9 aww v A8 8 |

1) =M=

(2) 5%

(3) Fsw

@) Fr=R

1[Option ID=31297]
2[Option ID=31298]
3[Option ID=31299]
4[Option ID=31300]




Sl. No.10
QBID:15550410

TIdentify the part of speech of the underlined word in the following sentence.

Let us even the ground.

(1) Verb

(2) Adverb

(3) Noun

(4) Adjective

Tt A S e Ty S8 T8l & |

(1) & F o Rt 1 vgm St F s e
(2) fagil & oy 39 9 &, ao9 SR SRS T T |
(3) T & ger 9r T fFr U |

(4) T s & & g € - @ o A |
1[Option ID=31205]

2[Option ID=31206]

3[Option ID=31207]
4[Option ID=31208]

Sl. No.11
QBID:15550411

Who has been appointed as the new chief economic advisor (CEA) to the Government of India ?
(1) V Anantha Nageswaran

(2) Arun Kumar Singh

(3) Vijay Sharma

(4) Kartik Sen Gupta

S8 I DI URd PR & 40 T e TaeeR (@Hisy) & 30 Fga gus 2
(1) & 3T AFERA

(2) %0 FARREE

(3) fawm =mi

(4) ifdies Fa

1[Option ID=31209]

2[Option ID=31210]

3[Option ID=31211]
4[Option ID=31212]

Sl. No.12
QBID:15550412

Which of the following companies are among the recently created 7 new Defence Public Sector Undertaking Companies. which were
created through restructuring of OFB (Ordiance Factory Board) ?

A. Weapons India Limited
B. Munitions Indian Limited
C. Yantra India Limited

D. Gliders India Limited

Choose the cotrect answer from the options given below :
(1) A.B and D only

(2) Cand D only

3) A. Cand D only

(4) B. Cand D only




FmfafEs =H-9 FutEt 3 em 6 F 7 70 Tdute 1 SusE Sui-El =it #91 2 B eamgy T 52 S e 59 s 3 wnfg
ur?

A. 9 i s

B. =i am gitem fafies

C. 93 3fEa fafaes

D. mgsd sivsa ffies

i fou U Reed! § 9 999 99 SR &1 994 S
(1) FA.BIRD

(2) Fa@C SRD

(3) WA, C 3iRD

(4) F B, C IRD

1[Option ID=31213]
2[Option ID=31214]
3[Option ID=31215]
4[Option ID=31216]

Sl. No.13
QBID:15550413

Name of the autobiography of Kamala Das is :
(1) My Story

(2) ListenI Tell You

(3) Wings of Fire

(4) Autobiography of an Unknown Indian

HHT S & SHEHYT B 1 &

(1) wE =i

(2) fRm e tay

(3) i o ®ER

(4) HSETIHTET o sF=E Seaa
1[Option ID=31217]

2[Option ID=31218]

3[Option ID=31219]
4[Option ID=31220]

Sl. No.14
QBID:15550414
A small organ at the base of the brain that produces substances that affect growth and sexual development (hormones) is called :

(1) Pituitary Gland
(2) Hypothalamus
(3) Pineal gland

(4) Adrenals
Afers ¥ MuR & fRF oF oy o 59 veR F 951 #1 9w B ¢ 9 gEn afg s dfte e i) B ol w3a € 9 70 esaar

A, foegedt 9fy
B. gadideEa
C. Sifme @y
D. ugHd
i fay Ty fgsedl | | 999 Iuged 9T &1 904 S
(1) FTTA. B 3R D
(2) FI@A IR C
(3) TA@A. B 3R D

(4) FT@A SIRD

1[Option ID=31221]
2[Option ID=31222]
3[Option ID=31223]
4[Option ID=31224]

Sl. No.15




QBID:15550415
Who among the following is the first woman to receive two Nobel Prizes ?

(1) Marie Curie

(2) Andrea Ghez

(3) Domnna Strickland

(4) Maria Goeppert Mayer

e & 9 &1 Hiu R yId S are wuE AR S ?
(1) 38 =gl

(2) uivga °s

(3) s REF s

(4) wfEn g 3

1[Option ID=31225]
2[Option ID=31226]
3[Option ID=31227]
4[Option ID=31228]

Sl. No.16
QBID:15550416

In a certain code language

"uo ja ka hm" means 'we great Indian country’,
"oi ka la ju" means "we score good highest'.

"la fu ja ju" means "India score the highest”

and "ju uo na fu" means "highest of the country”.

Then what is the code of "great” in this code language ?
(1) uo

(2) ka

(3) ja

(4) hu

T {8y e Wil H

"uo ja ka hu" 1 3%f § 'we great Indian country'.
"oi ka la ju" T 3 & 'we score good highest'.

"la fu ja ju" @1 3;f & "India score the highest"

3R "ju uo na fu" 1 3 € "highest of the country”.

1 59 Fe T H "great” B e T E 7
(1) uo
(2) ka
(3) ja
(4) hu

1[Option ID=31229]
2[Option ID=31230]
3[Option ID=31231]
4[Option ID=31232]

Sl. No.17
QBID:15550417




If "A@B" means A is the mother of B
"A#B" means A is the father of B

"A  B" means A is the son of B

How is X related to Z from the given equation ?

X F i F Z
(1) Xis the grandson of Z.
(2) Z is the grandson of X.

(3) Z is the father of X.
(4) Z is the mother of X

oz "A@B" Faf e A BFIHIE
"AYR " FT e e fF A BEIfia

"Ar B'EEfFABEBEE

i fr M ew E MR R X T ZI T =Y E?

XzYszZ

(1) X, ZF I g |
(2 ZXFIaE |
(3) Z.X®famg
(4) Z.XFAGMEI

1[Option ID=31233]
2[Option ID=31234]
3[Option ID=31235]
4[Option ID=31236]

Sl. No.18
QBID:15550418

Global Hunger Index is released by which of the following organizations ?
(1) World Health organisation

(2) Concern Worldwide & Wealthungerhilfe

(3) Food and Agriculture organisation

(4) World Food Programme

il & 9 Wea s 3 youd gEeis o e o & 2

(1) fary waren e

(2) T TeoaeE TS SRR ARE

(3) = ud P H@Ie

(4) fay @iy sEHA

1[Option ID=31237]
2[Option ID=31238]
3[Option ID=31239]
4[Option ID=31240]

Sl. No.19
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Seven dance students- T. U, V., W, X, Y and Z - are to give a performance, and the judges have to decide the sequence in which they
will perform. Each student will perform exactly one item., a solo ballet. In deciding the order of performance. the instructor must observe
the following restrictions :

1. X cannot perform first or second.

2. W cannot perform until X has performed.

3. Neither T nor Y can perform seventh.

4. Either Y or Z must perform immediately after W.

5. V must perform either immediately after or immediately before U.

If U performs third, what is the latest position in which Y can perform ?
(1) Fifth

(2) Sixth

(3) Seventh

(4) Fourth

T mFINsE -T.U VW X YIRZ-# & @I e iR Artsi s ot st on s i & imea &
@l UH WA S & - UF U a0 & ©U H | a3 B MHuiia e a9y feus o By uiesi &1 oee s sfen ¢ -

. X 950 91 g BH TR WRgfd T8 § gl |

X & U 9 € o W TRdfa T8 wear |
ATTARAE Y 91938 57 WA ¢ IHd & |
W& O3 915 Y 91 Z T SRdfd &1 BRi |

.U % 34 950 I1 god a5 § V &1 Wegid o1 91iey |

7y - afg U S v R Uegfa e 2 1 Y 2ioed e veafa 2 9ear s ?
1) o

(2) zad

(3) wmad

(4) =9

1[Option ID=31241]

2[Option ID=31242]

3[Option ID=31243]
4[Option ID=31244]

b2 =

L SN Y

Sl. No.20
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A country has seven major cities - A, B, C, D. E. F and G. Three flights labeled X, Y and Z are available to connect the cities following
the rules :

Flight X has its ends at A and C, and passes through B only.
Flight Y has its ends at B and C, and passes through D only.
Flight Z has its ends at E and G, and passes through F only.
Directly connected cities are those cities between which there is no other city to land any flight.

Which of the following city is directly connected to the most other cities ?
1) A
(2) C
3) B
4 D




WW@?WE@W%-A.B. C.D.E.F3iRG. Pufrfaa o st oo sa gu s wedi 1 s ey S R dH e S XL Y. Z
JuaH

IEM X, A R C $1 S5l & 9N 5o B ¥ S Jol 8 |
TEAYFMBMMCREMNTEFOD ITHR 0w & |
SEHZFRNEMRGWE AN T Hoa F € 51 ol & |

I TR &1 Y 31 o WET 41 o @ & o §9 § 95 $1 Iavd & O $I5 IR T A6 ¢ |

Prgfaid § § S 1 TR sive gt W 3 G aR R el 2 -
(1) A

2 C

3) B

(4) D

1[Option ID=31249]

2[Option ID=31250]

3[Option ID=31251]
4[Option ID=31252]

Sl. No.21
QBID:15550421

In how many different ways can the letters of the word AUCTION be arranged in such a way that the vowels always come together ?
(1) 676

(2) 476

(3) 578

(4) 576

AUCTION =5 & auil =i e ver & oafua faar o awar 2, e & wx 9do o 9w e 2
(1) 676

(2) 476

(3) 578

(4) 576

1[Option ID=31253]

2[Option ID=31254]

3[Option ID=31255]
4[Option ID=31256]

Sl. No.22
QBID:15550422

The surface arca of a cube is 1734 s.q. em. Then volume of cube is...
(1) 289 cm?

(2) 4913 em?®

(3) 4931 em?

(4) 4319 em®

UF U &1 810 8% 1734 T 991 § @ 99 &1 ga fea e 2

(1) 289 cm?

(2) 4913 em?

(3) 4931 em®

(4) 4319 cm?

1[Option ID=31257]
2[Option ID=31258]
3[Option ID=31259]
4[Option ID=31260]

Sl. No.23
QBID:15550423
If 1 . then ¥* 437

o

T3 2 -y

o

b ¢
¥y

(1) -2
4




(2)

|

(3)

(4)

[ I S W S

ﬁ:

Y | =

| =
it
|
o

(1)

|
Fooy

| e

(2)

3)

(4)

[ I Y

1[Option ID=31261]
2[Option ID=31262]
3[Option ID=31263]
4[Option ID=31264]

Sl. No.24
QBID:15550424

How much time will it take for an amount of F 4.5% to yield F 81 of interest at 4.5 % per annum of simple interest ?
(1) 4 years

(2) 5 years

(3) 3 years

(4) 6 years

z 450 # yfl & fow 4.5% vied Tunn o S R A TS F EUHA 7 81 Wd F 7 fan wwy w2

1) gad

(2 sof

(3) 3=

@ god

1[Option ID=31265]
2[Option ID=31266]
3[Option ID=31267]
4[Option ID=31268]

Sl. No.25
QBID:15550425

The average of 7 consecutive numbers is 20. Then sum of smallest and greatest number is
(1) 23
(2) 17
(3) 40
(4) 30
7 BT Sl BT I 20 § 91 999 BIE] Ud 999 951 I©01 F1 gRT e g 2
(1) 23
(2) 17
(3) 40
4) 30
1[Option ID=31269]
2[Option ID=31270]

3[Option ID=31271]
4[Option ID=31272]

Sl. No.26
QBID:1091514841




Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Pasteurization was a sighificant advancement in ensuring microbial safety to food.
Reason R : Canning is a simple food processing method to prevent food spoilage.

In the light of the above statements. choose the correct angwer from the options given below :

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is the correct explanation of A.

(3) A is true but R is false.

(4) A is false but R is true.

9 @ FF R T § : 0F YA (Assertion A) F F9 # if&d § o g9U 9% R (Reason R) F 9 H
ftyT A ;. TrdiERo @y uerd ot I qRem GRAfET 39 8 UF Aeaqul I o |
gﬂR:%ﬁﬁamwﬁﬁﬁTﬁaﬁWmﬂaﬁwmmeﬁﬁ% | 39T S F eE H, 7 fou et § § w6 s o T
(1) ARRIFITUE IR R A F W sqren ©

(2) A R R & 9@ & @ R, A 91wl ogrem 7 &

(3) AVEE AFTR oM@ R

(4) AEaz dETRTAE

1[Option ID=29101]
2[Option ID=29102]
3[Option ID=29103]
4[Option ID=29104]

Sl. No.27
QBID:1091514842

Which one of the following act as biological catalysts to accelerate chemical reaction in food ?
(1) Exposure to light

(2) Moisture

(3) Pesticides

(4) Enzymes

e verdf & vemafie sififia o afta s # i@ § s offela SoRe S su d s sear 2 2
(1) ¥ H SwreA

(2) =

(3) dewart AR

(4) e

1[Option ID=29145]

2[Option ID=29146]

3[Option ID=29147]
4[Option ID=29148]

Sl. No.28
QBID:1091514843

Which one of the following can counteract both yellowness and grayness of fabrics after repeated wash ?
(1) Ultramarine Blues

(2) Optical florescent brightening agents

(3) Gelatin

(4) Borax

fefafEa 3 9 1 $98 &1 TRER Yo7 $3 IR G SR §ERTE gl it (S18eT 19e) X 96l & 7
(1) g =g

(2) v s veE w6e

(3) famifeq

(4) =g

1[Option ID=29189]

2[Option ID=29190]

3[Option ID=29191]
4[Option ID=29192]

Sl. No.29
QBID:1091514844

Which one of the following stiffening agents is obtained from tapioca ?




(1) Gelatin
(2) Borax
(3) Starch
(4) Gum Acacia
FmfafEa & 3 o degn =de =1 ¢fide S o Em wa g 2
(1) fmfes
(2) aiEd
(3) =i
(4) 999 ®17g
1[Option ID=29233]
2[Option ID=29234]

3[Option ID=29235]
4[Option ID=29236]

Sl. No.30
QBID:1091514845

Which one of the following is the correct sequence of atmospheric layer from earth's surface?

A. Troposphere
B. Stratosphere
C. Thermosphere
D. Mesosphere

Choose the correct answer from the options given below :
(1) A-C-B-D
(2) B-C-A-D
3) A,B.D.C
(4) C-D-A-B
Tt T Fos § R $1 AR TgHeT B FEtEa A S FH- S #H R 8 ?

A. giydsd
B. 9HAY H3@

C. 915l g/gHsa
D. A9 Hsd

I U U el # ¥ 999 9Uged 9T @1 994 S ;
(1) A-C-B-D

(2) B-C-A-D

(3) A-B-D-C

(4) C-D-A-B

1[Option ID=29277]

2[Option ID=29278]

3[Option ID=29279]
4[Option ID=29280]

Sl. No.31
QBID:1091514846

Match List T with List 1T

LIST1I LISTII
Beti Bachao. Beti

A Padhian Yoira 1. Entrepreneurship
Kasturba Gandhi i

B. Bufiles Vidysbua II. Safety to girl child
Adjustment of Sarva Shiksha

C. Human and III. Alifiran
Machine 4
Creating new and

D. mnovative IV. Ergonomics
enterprise

Choose the correct answer from the options given below :




(1) A-III, B-1, C-II, D-IV
(2) A-L B-IIL C-III, D-IV
(3) A-IV, B-III, C-II, D-I
(4) A-II B-III., C-IV, D-I

I 1 & |1y g 11 &1 e S

gl 1 i 11

A. 38 T1e, S uersi gieEn 1. SmEiea

B. Twel M arfew fFeed 11, STiereT &1 e
C. ATa X 7RI &7 TAE e 111 5 foen st

D. 7T 3 FaFE SE #1 ®IgA TV, 47 &1 =T=a (Te i)

= feu U e § 9 98 ST @1 994 i
(1) A-III, B-1, C-II, D-IV

(2) A-L B-II, C-III, D-IV

(3) A-IV, B-III, C-II, D-I

(4) A-IL B-IIIL, C-IV, D-1

1[Option ID=29321]

2[Option ID=29322]

3[Option ID=29323]
4[Option ID=29324]

Sl. No.32
QBID:1091514847

A sense of personal continuity and of uniqueness from other people is called
(1) Identity

(2) Self-concept

(3) Self-esteem

(4) Self-rating

el W &1 WiE SR o AT § R B &1 el wn &
(1) HedH

(2) -4

(3) w@ritmAE

(4) @IS @ e

1[Option ID=29365]

2[Option ID=29366]

3[Option ID=29367]
4[Option ID=29368]

Sl. No.33
QBID:1091514848

The oldest form of textile, also used for making mats and baskets. was called

(1) Kanitting

(2) Weaving

(3) Braiding

(4) Knotting

T $1 T UIHHaH &9 SH-91 &, T gergal iR Srefal aam & «f o fea s an 2
(1) % G

(2) == (@ifdm

(3) T @M

(4) 716 TET [{Hifé

1[Option ID=29393]
2[Option ID=29394]
3[Option ID=29395]
4[Option ID=29396]

Sl. No.34
QBID:1091514849

How can the use of ergonomics at the work place prove more beneficial ?




(1) Providing comfortable working condition

(2) Workplace injury

(3) Dissatisfaction in job

(4) Extra time engagement

% 1 A W 47 <41 G (@UIHITE) $1 S9N 59 veR i aers aifed o 9% s ?
(1) RMEEF HM R 18H B

(2) =@ W AE

(3) = # addn

(4) ffefvaa 9/ gey=

1[Option ID=29397]
2[Option ID=29398]
3[Option ID=29399]
4[Option ID=29400]

Sl. No.35
QBID:10915148410

Consider the following statements regarding democratic rights

A. Until 2015, Saudi Arabian women did not have right to vote.

B. Democracy is based on a fundamental principle of political equality.

C. A democratic government rules within limits set by constitutional law and eitizen’s rights.
D. In China, elections are regularly held after every five years.

Choose the most appropriate answer from the options given below :
(1) A Only

(2) A&B Only

(3) C&A Oaly

(4) All

TiEaiEs HFERl & geH § FafafEa Fw= & v ¥ AR #ife

A, 2015 TF TFhel oRd 1 Afeare &1 9d 9 &1 AUSR U Tar o |

B. Tisda Tu-ifas SEE © 0 faaid ) aiE

C. TF Tiepdiiae wWer deute &Y st amfet F sfiert g fHuifa Sarst & Jiae smea st 21
D. 97 & vl o o a1g fFafid 9 8 g9 909 s O § |

= gy U Aol § ¥ 999 9Uge 9 &1 9949 S ;
(1) FTaA

(2) 7T A R B

(3) FI@C ARA

(4) T

1[Option ID=29105]
2[Option ID=29106]
3[Option ID=29107]
4[Option ID=29108]

Sl. No.36
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Which one of the following is the full form of EPIC ?
(1) Electronic photo identification card

(2) Election photo identity card

(3) Elective person identification category

(4) Election polling identity card

$0amg . (EPIC) &1 1 TH § -

(1) SRS Bl AMES<PHR B18

(2) SO BT SMFS< B8

(3) sifded Tl STeS=pasR Sl

(4) TEEEE T AES< B




1[Option ID=29109]
2[Option ID=29110]
3[Option ID=29111]
4[Option ID=29112]

Sl. No.37
QBID:10915148412

Which of the following statement/s is/are incorrect regarding Federalism?

A. There are two or more levels of government
B. Different tiers of government govern the same citizens
C. Courts don’t have power to interpret the constitution and the powers of different levels of government

D. The Federal system only accommodates regional diversity

Choose the most appropriate answer from the options given below :
(1) A Only

(2) A& B Ounly

(3) C & D Only

(4) D Ouly

A & SN A e § § SH-9/F -9 $YE W 6 2

A FTERF AT AUST TE |

B. TER F i w1 @ ol amfe oiRE ea

C. TITeal & U Sy i Wen ¢ faft wRt #1 sisaat 37 ooren 371 Hfier 98§
D. St wunel Rk dg i 1 sagifee s g

A T U el # 9 99 9Uged 9 &1 994 S
(1) &FEaA

(2) FTWA R B

(3) FIWC ARD

(4) FTaD

1[Option ID=29113]
2[Option ID=29114]
3[Option ID=29115]
4[Option ID=29116]

Sl. No.38
QBID:10915148413

Read the following statement and options:
... Everything has either a price or a dignity. What has a price is such that something else can also be put in its place as its equivalent;
by contrast, that which is elevated above all price, and admit of no equivalent has a dignity. — Tmmanuel Kant.

A, This view represents moral conception of rights.

B. Every person has dignity and ought to be so treated by virtue of being a human being

C. A person may be understood, poor or powerless yet he remains a human being and deserve to be given dignity

D. We should respect people not because they are useful to us but because they are, after all human beings. Which of the above
option is/are related with the given statement of a Kant ?

Choose the most appropriate answer from the options given below :
(1) A Only

(2) B Only

(3) C & D Only

(4) Al




o Fu9 oiR fawet 1 uigw

ToF $1 a7 T B & | e S & o e & fr e o ) W S99 R W 9 SRS 101 O 994l & SO% [Hui el g9 it
FIHC ¢ IR WieR g 9 & fF B O avsy 2 afen g6 2 1 - Them Fie

A. T2 ThEm et 31 3 smumm = i s g

B. Y@® wfad &1 A & 3R 0F 799 & 90 51 $ A 99& 1Y 9eR &gl 91 91l |

C. Tz alE & Ty i aEEr g wvsa e R s raus sudsanafm T Fama g |
D. &8 @l &1 9HF 3EY 781 41 91iet F 3 3R forg Suarh B afcs 3 sidamar 06 999 &

Ioiied fiecdl 8 § &F 91 fied e & oua § 9@ 22
(1) &FEaA

(2) %@ B

(3) FE@C dRD

(4) wuff

1[Option ID=29117]

2[Option ID=29118]

3[Option ID=29119]
4[Option ID=29120]

Sl. No.39
QBID:10915148414

Which of the following statement is/are not correct regarding the concept of propertionate justice ?

A. All students should get equal marks if they appear in same examination.

B. Reward different kinds of work differently.

C. Rewards should be decided by the factors like — efforts required, skills required and possible dangers.

D. For justice in society, the principle of equal treatment needs to be balanced with the principle of proportionality.

Choose the most appropriate answer from the options given below :
(1) A Only
(2) B Only
(3) C & D Only
(4) D Only
THIUT TG F1 @R F TR | FeffEd § @ SR-ayen-8 sy ad 2AE 8 2

A, i frenfdfat &1 99 ofe fies oite. ofs 3 St wher A um da &

B. i v&R & w1 & firg &7 9 qga &< |

C. [OHNI & G0 T, A SR o Sufid il oF sl g FHeifa o wm oz
D. 9919 § =g & O 991 ooeR & REid @ Seguiiaedl & 91y Sqii (a1 o =91 |

=i fu U el § 9 99 99gE 9T & 994 S
(1) &g A

(2) FT@ B

(3) @@ C R D

(4) FFAD

1[Option ID=29121]
2[Option ID=29122]
3[Option ID=29123]
4[Option ID=29124]

Sl. No.40
QBID:10915148415

Which one of the following statements is not correct regarding the concept of fundamental rights in Indian constitution ?
(1) Fundamental rights are especially protected by constitution

(2) Constitution has made special provision to protect fundamental rights.

(3) Fundamental rights are different from ordinary legal rights.

(4) Fundamental rights can be changed by legislature through ordinary process of law making.

YReTg Sy § Aifte fieR $f cayrm & aR | e d s s ad T8 2 2

(1) iy R s =9 3§ Aifte fien! &1 e e g o




(2) Hfgum 3 Ao AfUer % dvem = fon fody weum fF g |
(3) Aifte sfver gmm fifie sferRi T im e 2 |
(4) faenfae gm fafd fAmior 25t 9 wfiesa & Aram § Sifte aftert & ohads o o 9ear &

1[Option ID=29125]
2[Option ID=29126]
3[Option ID=29127]
4[Option ID=29128]

Sl. No.41
QBID:10915148416

Which one of the following states doesn’t have Bicameral legislature ?
(1) Andhra Pradesh

(2) West Bengal

(3) Karnataka

(4) Uttar Pradesh

Fofiied & 9 59 w0 ¥ g 9oy i 7678 2
(1) semEm

(2) offm s

(3) FAEH

(4) T Uem

1[Option ID=29129]

2[Option ID=29130]

3[Option ID=29131]
4[Option ID=29132]

Sl. No.42
QBID:10915148417

Which one of the following is not correct regarding USSR?

(1) USSR came into being after the revolution in Russia in 1917

(2) Russian revolution of 1917 was inspired by the ideas of liberation

(3) USSR attempted to abolish the institution of private property

(4) In Soviet political system, economy was planned and controlled by Monarchs of USSR.

JUETESR,  IN § P d s o sua adl Al & 2

(1) THH 1917 # Hifq & 915 gUAUH.SMR. &5 § 3man ol |

(2) 1917 =1 w41 wifd Td=ar & ERl 3 uia 491 |

(3) TUHEE.SR, A (ol g &1 dw &1 waiia &1 v foegr ot |

(4) wifgTa ToHiToE JoTe # gUNTE.HR. F R {Io-AeREn) gR1 sfoawn e oR Pt i

1[Option ID=29133]
2[Option ID=29134]
3[Option ID=29135]
4[Option ID=29136]

Sl. No.43
QBID:10915148418

Which of the following statement/s is/are correct ?

Constitution of India was adopted on 26th November 1949
Constitution of India was signed on 26 January 1950
Constitution of India came into effect on 26 January 1950
Constitution of India came into effect on 26 January 1952

Onwp

Choose the most appropriate answer from the options given below :
(1) B Only

(2) C Only

(3) A & C Only

(4) A& D Ounly




Fofifed § 9 FH-a/aH-8 FE IR BR 2

A, YNTg Sy 26 F98%, 1040 &7 SRTer faar o o1 |
B. YT Sfgur o2 26 wHad, 1050 ®1 swmer Sy au & |
C. HRaE Hfgy 26 F9ad, 1950 = TR g3 T |
D. R e 26 9Had, 1952 B TR g1 o1 |

I fag U fawedt | § 99 Suged SR =1 994 S ;
(1) %@ B

(2) HE@ C

(3) FWA MC

(4) FTWA R D

1[Option ID=29137]
2[Option ID=29138]
3[Option ID=29139]
4[Option ID=29140]

Sl. No.44
QBID:10915148419

Which of the following statement is not true ?

A. G.W.F. Hegel — distinguished civil society from the state

B. Karl Marx believed that civil society represent justice

C. Antonio Gramsci identified two levels of superstructure of capitalist society

D. According to Antonio Gramsci civil society embodies structures of legitimation

Choose the most appropriate answer from the options given below :
(1) A Only

(2) B Only

(3) C & B Oaly

(4) A &D Only

T A d sR-aeR I s T T 38 2

A, Ol s=gUE. 5 - 3 f4fa areed @i 9w &1 W 9 udg e
B. FTd A1 #1 941 U1 & ffee demd w1 uiafiia 3 2

C. TEmsl o=l 3 qolard] 99 & 2y @91 & &1 wR @1 959 S

D. e ansht & orgar fafia semd ddiewn @t deganei & gd w9 & 21

=i 14U U Aol § 9 99 IUge 9% &1 994 Sy
(1) FTTA

(2) ¥7@ B

(3) FUC ARB

(4) Fag A RD

1[Option ID=29141]
2[Option ID=29142]
3[Option ID=29143]
4[Option ID=29144]

Sl. No.45
QBID:10915148420

Which of the following pair is /are incorrect ?

Grammar of Polities — Laski

The Acquisitive Society — C.B. Macpherson

The elements of Social Justice — William Blackstone
On Justice in Society — Morris Ginsberg

Dowpe

Choose the most appropriate answer from the options given below :
(1) A & B Only
(2) B & C Only
(3) C & D Only




(4) D & A Only
e % @ SF-ayEE-8 oW T@E 38 0

A. TR 316 gidicad - TRs!

B. ¢ upifafea gamad - d&t demd

C. T uferiey e wrey - faftran sewer
D. 37 wiew 57 S - A fraed

= fau T fowedl § | 9% SUged 9w &1 90 SI
(1) FITA R B
(2) FTWB MR C
(3) F@@C R D
(4) HIAB AR D

1[Option ID=29149]
2[Option ID=29150]
3[Option ID=29151]
4[Option ID=29152]

Sl. No.46
QBID:10915148421

Who among the following was not the member of the drafting committee of the Indian Constitution?
(1) Alladi Krishnaswami Ayyar

(2) K.M. Munshi

(3) Syed Mohd. Saadulla

(4) B. Pattabhi Sitaramayya

HRGTg SRYH $1 FEe s &1 FafafEa § § 919 e T8 a1 ?

(1) Sfeuis FOMAH! @R

(2) @ua. H{=i

(3) Wig HigwE WigT

(4) &, azily faanden

1[Option ID=29153]
2[Option ID=29154]
3[Option ID=29155]
4[Option ID=29156]

Sl. No.47
QBID:10915148422

Elasticity of substitution under Cobb-Douglas production function is
(1) One

(2) Two

(3) Zero

(4) Infinity

BIE-STOT I UBR & ST e #1 O E
(1) s

(2) a1

(3) TH

(4) amfdaa

1[Option ID=29157]

2[Option ID=29158]

3[Option ID=29159]
4[Option ID=29160]

Sl. No.48
QBID:10915148423

In zero sum game. the gain of one firm leads to
(1) Loss of the other firm

(2) Gain of the other firm

(3) Both the firms gain

(4) Both the firms loses

TR A el s aH S E e g 7




(1) g BF @ g

(2) g wd &1 Ay

(3) Hf wF & Ty U Bl &
(4) e EA B EE AR

1[Option ID=29161]
2[Option ID=29162]
3[Option ID=29163]
4[Option ID=29164]

Sl. No.49
QBID:10915148424

When MPC is 1. size of the multiplier is
(1) Zero

(2) Double

(3) One

(4) Infinity

o AL 1 8 A U B R
(1) B

(2) &l @E

3) =

(4) auieiEa

1[Option ID=29165]

2[Option ID=29166]

3[Option ID=29167]
4[Option ID=29168]

Sl. No.50
QBID:10915148425

In Lewis unlimited supply of labour theory ;

A. There is a capitalist surplus

B. Supply of labour becomes inelastic

C. Formation of capitals demands on capitalist surplus
D. There is increase m capital output ratio

Choose the most appropriate answer from the options given below :
(1) A Only

(2) B & C Only

(3) C & D Only

(4) All correct

wfew & o fogia &t onfifoe smgfd &

A. Goiardt st £ |

B. o\ @t A1ff JEEeR &5 9l § |

C. Yot &1 fomio goftare) sty Rgan g |
D. 951 &1 Frfd s 8 |

I fag U fawedt | § 99 Suged SR =1 994 S ;
(1) FEaA

(2) FEAB N C

(3 FECARD

(4) =t wg

1[Option ID=29169]

2[Option ID=29170]

3[Option ID=29171]
4[Option ID=29172]

Sl. No.51
QBID:10915148426

Theory of technological dualism is given by
(1) Boeke




(2) Benjamin Higging

(3) Frank

(4) Lewis

o § @ e deifeig &7 & faaia &1 wfoues e ar 2
(1) sus

(2) o= el

(3) ¥=

(4) ofgw

1[Option ID=29173]
2[Option ID=29174]
3[Option ID=29175]
4[Option ID=29176]

Sl. No.52
QBID:10915148427

Theory of Golden Age is given by

(1) Joan Robinson

(2) Harris — Todaro

(3) Samuelson

(4) Harrod — Domar

Ffafea & 3 fega @l gn & fysia &1 ufaoe= f&m a2
(1) o= Afaw=

) eRE-dER

(3) THfTEA

(4) FHEEMW

1[Option ID=29177]
2[Option ID=29178]
3[Option ID=29179]
4[Option ID=29180]

Sl. No.53
QBID:10915148428

In classical theory, changes in money supply affects

Nominal variables

Real variables

Both nomimal and real variables

Nominal variables more and real variable less

Onuwp

Choose the most appropriate answer from the options given below :
(1) A Only

(2) B and C Only

(3) C Only

(4) C & D Only

TS figia & gar omgfd feaet wifda s € 2

A AR & W

B. arifa® W

C. 9HE & 3R arfds 9 &Ml

D. THHE & R Hfi® 3N e 9 #H

=i 14U U Aol § 9 99 IUge 9% &1 994 Sy
(1) FTA

(2) FTWB R C

3) Fm C

(4) FaEC AR D

1[Option ID=29181]
2[Option ID=29182]
3[Option ID=29183]
4[Option ID=29184]




Sl. No.54
QBID:10915148429

A tax is to be buoyant if tax revenue is proportionally
(1) More responsive to change in output

(2) Less responsive to change in output

(3) Equally responsive to tax base

(4) Less responsive to tax base

g FX Vg FAGI! 51 a1 Y Sea® gk

(1) Fria # afed= & wfa sifds smfeandia

(2) e & e & vfd &5 sgfeasia

(3) HY YR & Wi FHH ¥ F il

(4) T YR & Wi FH SRHHE

1[Option ID=29185]
2[Option ID=29186]
3[Option ID=29187]
4[Option ID=29188]

Sl. No.55
QBID:10915148430

Which one of the following activities is not included in the calculation of national income of a country ?
(1) A maid working for a family on full-time basis

(2) A lawyer conducting his‘her law practice

(3) A housewife performing housework chores

(4) A dispensary rendering medical services

U 39 FI AP oM B a0 F it 7 9 e ool o et 6 Fm e g 2

(1) U= UiER F fou iefe smem w ek s

(2) T=TEd S 91 U gl

(3) O HWSTH B drell U iguil

(4) Taferear Hany yer % arar arEH

1[Option ID=29193]
2[Option ID=29194]
3[Option ID=29195]
4[Option ID=29196]

Sl. No.56
QBID:10915148431

Obstacles to economic development are

Socio-Cultural constraints

Low rate of capital formation

Agricultural and foreign exchange constraints
Human resource constramts

Onwp

Choose the most appropriate answer from the options given below :
(1) A Only

(2) B & C Only

(3) D& A Ounly

(4) All

T 7 T &

A, giiE-grEioe HEay

B. doit fmim #1 e =

C. P 3z B g wuft ey
D. AFg "1 dael s@iiy

4 3T U el # ¥ 99 9Uged 9 &1 9949 S
(1) FEaA
(2) FTaB AR C




(3) Faw D R A
(4) =i

1[Option ID=29197]
2[Option ID=29198]
3[Option ID=29199]
4[Option ID=29200]

Sl. No.57
QBID:10915148432

The capital of a company is divided into number of parts. Each one of which is called
(1) Demand

(2) Profit

(3) Interest

(4) Share

TF B B 9ol @1y H faurfea fem e ) ous v v L FET W& |
(1) =

(2) @

(3) &I

(4) femm

1[Option ID=29201]

2[Option ID=29202]

3[Option ID=29203]
4[Option ID=29204]

Sl. No.58
QBID:10915148433

According to Kober, those mobile zones of geosynclines that are surrounded by rigid masses are termed as ?
(1) Orogeny

(2) Kratogen

(3) Gliptogen

(4) Horst

FER F HIER T5 SoAET § R y-sftmfgt & afadfia g8 @ese s P e s am fem g 2

(1) TdaT ()

(2) HewA

(3) R

(4) ot B

1[Option ID=29205]
2[Option ID=29206]
3[Option ID=29207]
4[Option ID=29208]

Sl. No.59
QBID:10915148434

Which of the following statement is/are not correct ?

All children are naturally motivated to learn and are capable of learning
Children learn in variety of ways

Children also learn through experiences and experiment

Learning happens at formal institutions only

Onwpr

Choose the most appropriate answer from the options :
(1) A Only

(2) A & B Ouly

(3) C & A Oaly

(4) D Ouly




o I FR- I FE w8 T8 & 2

A. ot 7= J9ffE ¥ 8 e 3g sinRa s € ok sfrm S omg € 1
B. &= fafid adis! 9 fem 7 |

C. 9= YT iR YarT & wrem | Fea ©

D. fiFm e fvaie SR e R |

I fag U fawedt | § 99 Suged SR =1 994 S ;
(1) FEaA

(2) FaT A SN B

(3) FECARA

(4) @D

1[Option ID=29209]
2[Option ID=29210]
3[Option ID=29211]
4[Option ID=29212]

Sl. No.60
QBID:10915148435

What should be the medium of instruction at primary level of schooling ?
(1) Mother tongue

(2) English

(3) Bi-lingual

(4) Official language of the respective states

fagTerdt fien % srulies wX ox e =1 5071 AH I 96T 2

(1) HIGHTSI

(2) 3fimn

(3) fgurdt

(4) Haiim el 1 s Y

1[Option ID=29213]
2[Option ID=29214]
3[Option ID=29215]
4[Option ID=29216]

Sl. No.61
QBID:10915148436

As a school teacher how will you not promote effective learning in students ?

(1) By connecting knowledge to life outside the school

(2) By promoting rote memorization

(3) By making examination more flexible and integrated with classroom life

(4) By catering to psychological need of the students.

oo % o fies & ¥ # oMy frw ver fEenfifal = vt afrm & fom grenfea 38 &61 2
(1) faenmem ¥ =t 39 @ Wi 94t @ oisd & g

(2) 1T B B HAI

(3) uilan F1 oy T &9 SR Fa1 B SaTEa] F Y TS B GRI

(4) fenfifal &t s=dmfe smawosars & vy gRT

1[Option ID=29217]
2[Option ID=29218]
3[Option ID=29219]
4[Option ID=29220]

Sl. No.62
QBID:10915148437

Which of the following statement is/are correct ?

A. Education should facilitate the creation of vital links between children’s experience at home and school.
B. Education should be a continuous process of self-discovery.

C. Education must promote and nourish a wide range of capabilities and skills in children as possible.

D. Education must be seen as a liberating process.

Choose the most appropriate answer from the options given below :




(1) A Only

(2) A & B Only

3) C & A only

(4) All

e i sm o s w2

A. e gm0 =19 ¥ R IR faemem & orvat ¥ & & Teag Sieal F R # g a e e |
B. &1 -8 &1 U Hiae gfeal g4 9y |

C. T7en g0 gUrEYT T H sAars SN SR $ OOEdl &1 Wdlied HY eaiad el W =9iel |

D. firen =1 v GEEAEN uiea & =9 § 2@ 91 =91y |

I U U el # ¥ 999 9Uged 9T @1 994 S ;
(1) FEaA

(2) FITA SN B

(3) FEEC ARA

(4) =

1[Option ID=29221]
2[Option ID=29222]
3[Option ID=29223]
4[Option ID=29224]

Sl. No.63
QBID:10915148438

What is the role of a teacher in facilitating children with visual impairment in classroom?
(1) Teacher should teach them separately.

(2) Teacher should make him/her realize his/her limitations.

(3) Teacher should adapt inclusive pedagogy.

(4) Teacher should refer him'her to special school.

firers &1 wen # =fy-aifia a=it 31 Sega § 7 YIS e E 2

(1) e =1 3% o ¥ finan & =nfed)

(2) T &1 I8 IS FHATe &1 W ST FMiedl

(3) Parz = wmah fremame @STioh F1 sgFEa S =mey |

(4) e &1 3% fasi femem & Yo f=fife) s aiftg |

1[Option ID=29225]
2[Option ID=29226]
3[Option ID=29227]
4[Option ID=29228]

Sl. No.64
QBID:10915148439

Which one of the following is not the characteristics of an effective teacher?
(1) Teacher must deal with a wide range of student abilities and challenge.
(2) Teacher must adapt instruction and assessment to student’s needs.

(3) Teacher should boost self-esteem and confidence of students.
(4) Teacher should be strict in order to make students disciplined.

T yurdl fRige it aftiaa @ 3 o930 ue TR el s

() e i fqenfifal @ s emarsi SR I 3 Faea arfgy |

(2) TR1&e B FRar SR [eniiial &1 srazaearsi & geaid & Sdidd A1 A1e |
) g o1 fgenfifal § @iftme ¢k srafdyr &1 ya & sgH1 AU |

4) g o1 faenfifal & s S § 9%d i1 91 |

1[Option ID=29229]
2[Option ID=29230]
3[Option ID=29231]
4[Option ID=29232]

Sl. No.65
QBID:10915148440

As a teacher how would you not redress mequities of gender among the students ?




(1) You would make students re-examine existing realities.

(2) You should facilitate the forging of new values of the society that treat women and men equally.

(3) You will help students to understand that men and women have unique capabilities and capacities.
(4) You will tell students that men should do tough tasks while women should be engaged in easy work.
s e & T # a1y faenfifhl # dfe G gadd «ie ooy & 59 Faru &35 2

(1) g fEepfefat & diger gurdf 1 g w9 w3 F R w9 |

(2) M0 AW % 34 97 gedi & e # geraa s40, fred afgmsit ok ged % 1y 99 R e war g o

(3) 3 et &1 o8 99 & werma S4 F Ie! Sk Afgmel & Bl sman ik geeand 5 € |

(4) 3 fEenfifat @ w87 f ou 31 $io7 F1 F Ty, vele afeensd &1 smaH s & @ Ty |

1[Option ID=29237]
2[Option ID=29238]
3[Option ID=29239]
4[Option ID=29240]

Sl. No.66
QBID:10915148441

How would you address student’s physical differences in a way that does not call unnecessary action to the variations ?

(1) Make seating arrangement that are based on height.

(2) Balance sports and games that reflect size and strength as well cognitive, artistic, social and musical abilities of students.
(3) Don’t use and don’t allow students to use nick names based on physical traits.

(4) In pre-school classes. keep a good supply of left hand scissors.

3 farg v faenfifat 1 st fimarstt @@= T@e TayE $3 $ 399 uitady & 1Y oFews 9 § $ed 7 3aMH1 92 |

(1) 37 & o e &1 yeE, 9 At W i R

(2) IFeH §G IR T, 9 AFR U Hugil $ @l Gl 1 e, sues, S AR SiiaEs sears S gl 3 5
(3) =l fARdaret & H1yR W SE! &1 SUEr A w3 FR Genfifat s f 35 sugm 31 emgafa T &

(4) foerem od &1 wenait # 910 519 F vgad o aTel Sraat #1 et Smfd s @

1[Option ID=29241]
2[Option ID=29242]
3[Option ID=29243]
4[Option ID=29244]

Sl. No.67
QBID:10915148442

Which of the following statements regarding maintaining your relationship with families of the students is/are correct 7

A. You would maintain regular home-school contact through phone or text.

B. You will organize celebrations of students efforts and success with their families
C. You will discuss student’s progress with their family.

D. You will make parents feel welcome in classroom.

Choose the most appropriate answer from the options given below :
(1) A Only

(2) A & B Only

3) C&A Only

(4) Al
g TR F Ty Sy U - S e A T f ¥ e o/en S v T 88 ?

A, ¥ BT 2 & A1y ¥ aftd =9 € w-fieen o1 9ud 39w @i T

B. & faenfifal & vt SR awearst & R 5% uiarl & | gitmt 79 S g g9iie s SE |
C. o fenfifat 2 oafy % 91 ¥ g9 ufEr! F 9y == 497 |

D. M9 Gal-T9a1 & Se0 § 3H 9 AT 99901 &ad ©34 & [0 301 [ &4 |

4 3T U el # ¥ 99 9Uged 9 &1 9949 S
(1) FEaA

(2) FTWA R B

(3) FIEC ARA

(4) =0




1[Option ID=29245]
2[Option ID=29246]
3[Option ID=29247]
4[Option ID=29248]

Sl. No.68
QBID:10915148443

What would not be effective way to teach students with intellectual disabilities?

(1) Present concepts in small and logical steps.

(2) Be ready to present the same idea in many ways using different representation.
(3) Refer students to special schools.

(4) Use teaching material that do not insult the students.

AfEs el ard fenfifdl & sramm & Fafafa § @ SF-m md ade 78 grm 2
(1) @Y 3R W & @R H U H |

(2) A FEun &1 3ugh &d g4 3% aiie! 9 391 [9aR &1 W &3 & &7 qew A1 |
(3) feenfifat =i fomy faameat & forg Yo @efta) 3 |

(4) 39 Tem Sl @1 w3, foree il @1 eme T 8

1[Option ID=29249]
2[Option ID=29250]
3[Option ID=29251]
4[Option ID=29252]

Sl. No.69
QBID:10915148444

You observed that many students of your class are facing slow or faulty language development. How are you going to help them in this
regard?

A. You will talk about things that interest students.

B. You will not be judgmental regarding children’ language.

C. You will be accepting children and their language.

D. You will correct students whenever they miss-pronounce the words.

Choose the most appropriate answer from the options given below :

(1) A only

(2) A.B & C ounly

3) C & A only

(4) D Only

T AT & Ul fF ol s & oFe el v w9 fim ok geqf fEm R R | oW 59 SR F 99! Send & R 0 S8 2

A. 319 37 95 & ") 8.0 Sadd S, fogd R S e

B. 30 ¥= &1 W & T § FHuforee yie o) Tel @ |

C. 30 T=t AR I el &7 Wier F47 |

D. 5= 9@ & Tea! &1 K[E SR By, 06 9 36 GYR & g | gand] |

=i 14T U Tl § 9 99 I9gE 9% & 994 S
(1) FaaA

(2) FTWA. B 3R C

(3) FaWC R A

(4) FI@D

1[Option ID=29253]
2[Option ID=29254]
3[Option ID=29255]
4[Option ID=29256]

Sl. No.70
QBID:10915148445




You have a student in your class who is negatively affected by poverty of his family. He usually seems discouraged and demotivated in
class. What would you do as a teacher in this situation?

A. You will behave empathetically with student.

B. You will make him believe that he can succeed with good efforts.
C. You will provide constructive criticism if he does not perform well.
D. You will feel sorry for the student and start expecting less from him.

Choose the most appropriate answer from the options given below :
(1) A Only

(2) A & B Only

3) A, B, & C Ouly

(4) D Only

o] w&T H o fFendf & 5 o ofte & e F SR TeNEe B9 9 TUIfad £ | 98 ST H W 9 9 e o 5O WAl § | U fuee w0 §
g o i & = w0 2

A. %19 35 et & Ty samufos ToEr S5 |

B. 39 34 By feems % 98 o Wwiel § 9ea sl Sal € |

C. TfE 95 =31 0 _UeE T8l FXa1 & §1 10 TS S U2 #2497 |
D. 39 39 319 & [0 T THe B4 iR S99 HH UeT T |

I fau U el | @ 999 9uged SR =1 994 S0 ;
(1) FEaA

(2) Haa A SR B

(3) FT A, B 3R C

(4) FTaD

1[Option ID=29257]
2[Option ID=29258]
3[Option ID=29259]
4[Option ID=29260]

Sl. No.71
QBID:10915148446

King Ashoka’s inscriptions were first deciphered by James Prinsep in .

(1) 1836

(2) 1837

(3) 1838

(4) 1839

g iy 3 wge omie & S aEl & 9d g H 11z farft &1 onf fsran @) T an

(1) 1836
(2) 1837
(3) 1838
(4) 1839
1[Option ID=29261]
2[Option ID=29262]

3[Option ID=29263]
4[Option ID=29264]

Sl. No.72
QBID:10915148447

The “JANA” word during the Vedic period referred to .
(1) District

(2) Villages

(3) Tribe

(4) Cattle

dew A d v U ... B welid Fa @ |

(1) T (&)

(2) g

(3) Sat

(4) wa=f




1[Option ID=29265]
2[Option ID=29266]
3[Option ID=29267]
4[Option ID=29268]

Sl. No.73
QBID:10915148448

Match List I with List IT

List I List II{Time of
(Book) publications)

A Early History of India by V.A. o

s : . ) 1. 1963
Smith
IB.  Hindu Polity by K P.Jayswal I 1551
C. The Wonder that was India 11 1904
D. lThe_Cirilizat.ion of Ancient Indial V1924
in Historical Qutline by DD Kosambi :

Choose the correct answer from the options given below :
(1) A-I.B-II, C-IV, D-III
(2) A-IL B-III. C-L. D-IV
(3) A-IV.B-I C-III, D-II
(4) A-IIL B-IV. C-II, D-I

T 1 & | g I $1 e S
T 1 () ! 11 (AP D1 §0E)
A. §iu gy g fofEe ol B ot
e 1.1965
B.# 1. Srwae g @iy Teg uieer 11,1951
C."q ds¥ < a1 sfEar I11.1904

D .33, SmEmE 5 foed T
fefaamsomm e e St 5= IV.1924
EENeT AP

= feu U et § 9 95 ST &1 994 i -
(1) A-L, B-II, C-IV, D-III

(2) A-IL B-III. C-I, D-IV

(3) A-IV, B-1, C-III, D-II

(4) A-III B-IV, C-II, D-I

1[Option ID=29269]

2[Option ID=29270]

3[Option ID=29271]
4[Option ID=29272]

Sl. No.74
QBID:10915148449

Who suggested first that “Sanskyit, Latin and Greck belonged to the same family of languages™ ?
(1) Sir William Jones

(2) Max Muller

(3) Sir William Hokins

(4) Sir William J. Max

FmfafEa & 9 o9 ugd feam gema Ol 5 e, afeq ok fis @ar) i & oF ¢ e 9 defia g
(1) IR fofermy o

(2) #99 qe

(3) = faferaw gife—w

(4) = it 5.

1[Option ID=29273]
2[Option ID=29274]
3[Option ID=29275]
4[Option ID=29276]

Sl. No.75
QBID:10915148450




Match List I with List IT

ListI List IT
(Culture) (Regions )
A. Banas culture 1. South Eastern Rajasthan

B. PGW Culture 1I. Ganga-Yamuna Doab
C. Malwa Culture II1. Central India
D. Jorwe Culture IV. Northern Deccan

Choose the correct answer from the options given below
(1) A-IL, B-III, C-I, D-IV
(2) A-III, B-IV, C-II, D-I
(3) A-I, B-II, C-IIL.D-IV
(4) A-IV. B-I, C-IL.D-III

T 1 & | g I $1 e S

I 1 (el GEIRCE)

A. 9 S5l 1. =fEm ofinft Tomme
B. dioi seg, i I1. 7FTI-THAT Erefd
C. el Shd III. 799 YR

D .¥E §%ia IV. 3T &&

= fou U e § 9 981 ST &1 994 i
(1) A-IIL B-III, C-I, D-IV

(2) A-IIIL, B-1V, C-II, D-I

(3) A-L B-IIL C-III, D-IV

(4) A-IV. B-1, C-II. D-III

1[Option ID=29281]

2[Option ID=29282]

3[Option ID=29283]
4[Option ID=29284]

Sl. No.76
QBID:10915148451

Match List I with List IT

List I (Excavators) List IT (Time)
A. Daya Ram Sahani at Harappan T. 1921
B. J.Marshall at Mohen-jo-daro II. 1940
C. Vats at Harappa III. 1946
D. Mortimer Wheeler at Harappa  IV. 1931

Choose the correct answer from the options given below :
(1) A-II B-I, C-III., D-IV

(2) A-III, B-II, C-IV, D-1

(3) A-L B-IV, C-II, D-III

(4) A-IV, B-III, C-I, D-II

gdl- 1 & 91y gai- 11 &1 e S

Al [ Feaa-ddl Al 11 w9
A. 55T 41 IH W I.1921
B.Ag o g1 # . afa II. 1940
C. 55w & o M. 1946
D. 55w ¥ AifeHt gien IV. 1931

4 f2u U fAeedi § ¥ T8 ST #1994 Fe ;
(1) A-IIL B-I, C-III, D-IV
(2)




AL, B-II, C-IV, D-IQ
(3) A-I B-IV, C-II, D-III
(4) A-IV, B-III, C-I, D-IT
1[Option ID=29285]
2[Option ID=29286]

3[Option ID=29287]
4[Option ID=29288]

Sl. No.77
QBID:10915148452

The Sultan who called himself “Naib-i-Khudi” was ?
(1) Iltutmish

(2) Balban

(3) Alauddin Khalji

(4) Ghyasuddin Tughlaq

% Geae 4 o, T o e e s an ?
(1) Segar

(2) =S

(3) SrTFHEA FEwml

(4) TR T

1[Option ID=29289]
2[Option ID=29290]
3[Option ID=29291]
4[Option ID=29292]

Sl. No.78
QBID:10915148453

The terms used for the measurement of the land in the sultanate period was?
(1) Kismat-i-ghalla

(2) Ghalla-Bakshi

(3) Ghazi

(4) Masahal

Feoa HTa § i & Ae % o efafEs & @ e wegmdt & vgw Fm e g 2
(1) fewE-gem

(2) wreen-sEil

(3) et

(4) H¥ET

1[Option ID=29293]
2[Option ID=29294]

3[Option ID=29295]
4[Option ID=29296]

Sl. No.79
QBID:10915148454

Who was the editor of “Voice of India” during British time ?
(1) B.G. Tilak

(2) Sisir Kumar Ghosh

(3) Dadabhai Naoroji

(4) GK. Gokhle

fafem w1 & g gy 3w $fEar 9uEs =M U1 ?
(1) i, fowe

(2) MR $AR Uy

(3) SrarHrE i

(4) i TEa

1[Option ID=29297]

2[Option ID=29298]

3[Option ID=29299]
4[Option ID=29300]

Sl. No.80
QBID:10915148455




Book “Tabagat-i-Akabri was written by :
(1) Abul Fazal

(2) Badauni

(3) Khawaja Nizamuddin Ahmad

(4) Khawaja Nishar Ahmad

FmfafEa 2 9 19 deed-u-ased” &1 98 & ?
(1) G o

(2) ser

(3) I AR sEHE

(4) war FER sEHE

1[Option ID=29301]
2[Option ID=29302]
3[Option ID=29303]
4[Option ID=29304]

Sl. No.81
QBID:10915148456

Which edict of Ashoka contains the famous pronouncement “All the times. whether I am m the women’s apartment or in my mner
apartment .... where I may be, my ‘Mahamattrar’ should keep me in touch with public work™.

Rock Edict II
Rock Edict IV
Rock Edict VI
Pillar Edict V
Pillar Edict VI

MO 0wk

Choose the correct answer from the options given below :
(1) A Only

(2) E Oaly

(3) D & B Only

(4) C Only

THIE NS B HH-H Tar H WG o 31 s A F ER e  m i e m s A s g Fel 1l I W FeHOR g3 9eaie
wEl & we # ghe e B

A, faremem - 11
B. emeE - IV
C. farmesE - VI
D w™TE-V
E. ©midE- VI

i fau U [Geedi § | 999 Iugad 9ud &1 904 Hi
(1) &I A

(2) & E

(3) @D R B

(4) Ha@C

1[Option ID=29305]
2[Option ID=29306]
3[Option ID=29307]
4[Option ID=29308]

Sl. No.82
QBID:10915148457

Which one of the following is correct sequences of Administrative divisions during the Gupta Empire from nishant to lowest order ?

A. Bhukti
B. Vithis
C. Grama
D. Vishaya

Choose the correct answer from the options given below :
(1) B-D-A-C




(2) A-B-C-D

(3) A-D-B-C

(4) C-A-D-B

T TS & SR WRIH S A4 & Haiied # @ a9 s 69 8 7
FERIEFHEH

A i
B. didi

C.9H
D. famg

=i Ty U Tl § 9 999 9Uge 9T &1 994 Sy ;
(1) B-D-A-C

(2) A-B-C-D

(3) A-D-B-C

(4) C-A-D-B

1[Option ID=29309]

2[Option ID=29310]

3[Option ID=29311]
4[Option ID=29312]

Sl. No.83
QBID:10915148458

The Vijaynagar King who totally withdrew the Marriage Tax ?
(1) Devraya—1I

(2) Devraya—1II

(3) Kurishna Dev Raya

(4) Krishnan Vir Raya—1I

AvaTR &1 95 ms oF o, e e sy sl i avg S oo & e ar 2
(1) TmEl

(2) W@

(3) FU I

(4) FUFRE-II

1[Option ID=29313]

2[Option ID=29314]

3[Option ID=29315]
4[Option ID=29316]

Sl. No.84
QBID:10915148459

Who among the following was/were not a famous painter at the Court of Akbar ?

A. Aga Raza

B. Daswanth

C. Baswanth

D. Farruk Beg

E. Abdur Razaaq

Choose the correct answer from the options given below :
(1) A Only

(2) B Only

(3) C & D Only

(4) A &E Ouly




s # ¥ F19 3T ¥ SR F T TEER 6 U 7

A AT To
B. <3Gy

C. g9ay

D. BI&® &1
E. 35t T

=i 14U U Al § 9 99 99ge 9T & 994 S
(1) FITA

(2) FT@ B

(3) FE@C R D

(4) FITA SNE

1[Option ID=29317]
2[Option ID=29318]
3[Option ID=29319]
4[Option ID=29320]

Sl. No.85
QBID:10915148460

In the oceans and seas. the average salinity varies from :
(1) 25% to 27%

(2) 27%to 30%

(3) 30% to 33%

(4) 33%to 37%

HEEFRT SR THE! # Sied aave 1 Aty e & &g o ond 2
(1) 25 gfermra § 27 gfemm

(2) 27 wideE 9 30 wiomE

(3) 30 wferE § 33 Wi

(4) 33 gfoea | 37 gfoera

1[Option ID=29325]

2[Option ID=29326]

3[Option ID=29327]
4[Option ID=29328]

Sl. No.86
QBID:10915148461

Which one of the following is not a sub type of Epiphytes ?
(1) Green — Epiphytes

(2) Halo — Epiphytes

(3) Hemi — Epiphytes

(4) Semi — Epiphytes

Faffs # § #F- afiuey oieses s tE ST TeR W/ 2
(1) sha-afiuey fie-tfiwse)

(2) afeasit-afimred @t gwEe

(3) 3-sitmrey @

(4) 39-SHfETEy (@Hl- sieerey)

1[Option ID=29329]
2[Option ID=29330]
3[Option ID=29331]
4[Option ID=29332]

Sl. No.87
QBID:10915148462

In Aecolian Landforms. sand dunes developed in the lee of desert depressions, are called ?
(1) Hamada

(2) Dune Complex

(3) Whaleback Dunes

(4) Lunsttes

aTdle 4y =i & Aewed saaae & iaued § ek 8 okt o fesf &1 s sm W@ & 7




(1) =&

(2) feemdga
(3) FogEE e
(4) TE

1[Option ID=29333]
2[Option ID=29334]
3[Option ID=29335]
4[Option ID=29336]

Sl. No.88
QBID:10915148463

According to Koppen’s climate classification, DFC’ type of climate is found in which state of India ?
(1) Assam

(2) Bihar

(3) Kerala

(4) Goa

FIUA & TG0 F AR SUHH (DFC) YR &1 9aarg HRd & 59 g 7 9rar o 8 2
(1) FH

(2) faErR

(3) &w

(4) TiE

1[Option ID=29337]

2[Option ID=29338]

3[Option ID=29339]
4[Option ID=29340]

Sl. No.89
QBID:10915148464

Shiwalik Range is also knovwn as 7

(1) Inner Himalayas

(2) Outer Himalayas

(3) Lesser Himalayas

(4) Extensive Himalayas

e gdadnh & g e am S i aFr w2 2
(1) Sa:fEmmm

(2) T femmerg

(3) g femmem

(4) fawil e

1[Option ID=29341]
2[Option ID=29342]
3[Option ID=29343]
4[Option ID=29344]

Sl. No.90
QBID:10915148465

Which one of the following age groups the working age group of the Population ?
(1) 15-65

(2) 15-61

(3) 15-59

(4) 15-66

fFafafEn & 9 -1 3iEs (-9 9 & SRR 9 &1 Uaidd S ¢ ?
(1) 15-65

(2) 15-61

(3) 15-59

(4) 15-66

1[Option ID=29345]

2[Option ID=29346]

3[Option ID=29347]
4[Option ID=29348]

Sl. No.91




QBID:10915148466
Meaning of ITUCN is

(1) The International Union of Conservation of Nature and Natural Resources.
(2) The International Union of Historical Conservation and Natural Resources.
(3) The International Union of Conservation of Human and Natural Resources.
(4) The International Union for Conservation of Nature.

g (TUCN) &1 90 9 2.

(1) E SEEET gHad HF SoRas HE T IS 930 K
(2) & SexwEa giae e ey durder 0 e fe
(3) & SEXARMAT g A Hoa=H % ggAd s A9 e

(4) T SCTARMET g B deRdsH ik 5

1[Option ID=29349]
2[Option ID=29350]
3[Option ID=29351]
4[Option ID=29352]

Sl. No.92
QBID:10915148467

Which of the following countries is not mega diversity Centre

A. Brazil

B. Japan

C. Srilanka

D. Democratic Republic of Congo

Choose the most appropriate answer from the options given below :
(1) A Only

(2) B & C Only

(3) D & C Ouly

(4) A &D Oaly

ot 3 3 sH-w 3w 7 ffvm F a8 8 2
INEE

B. SO

C. digis

D. & Taias TR

i fau U el & 4 w8 T &1 9g4 S
(1) FEaA

(2) HFI@B AR C

(3) F@@D IR C

(4) FE@A R D

1[Option ID=29353]
2[Option ID=29354]
3[Option ID=29355]
4[Option ID=29356]

Sl. No.93
QBID:10915148468

Ibn Khaldum completed his monumental work known as “Muqddimah”. His work 1s divided mto how many sections?

Four sections
Five Sections
Six sections
Seven sections

Oowpe

Choose the most appropriate answer from the options given below :

(1)




A Oaly
(2) B Only
(3) C Only
(4) D Ouly
9 Oegd F 9H fafafty v geEEr &t @ ) 5w e %1 fFas gt | v femm &

A TRES
B.uD @s
C.9z g%

D.¥9G®Es

AT 2w o fOwedl 1 F 981 3O & Taa fife:
(1) Faa A

(2) FT@ B

(3) @ C

(4) HTa D

1[Option ID=29357]

2[Option ID=29358]

3[Option ID=29359]
4[Option ID=29360]

Sl. No.94
QBID:10915148469

Sea salt, pollen, ash, smoke soot and fine soil are associated with the
(1) Gases

(2) Water vapor

(3) Dust particles

(4) Meteor

TR T, T, T, YFNE AR S e (Bie Sige) Mt § § fee deitm § 2
(1) =

(2) @9

(3) ofct Hivremy

(4) STHIE (i)

1[Option ID=29361]
2[Option ID=29362]
3[Option ID=29363]
4[Option ID=29364]

Sl. No.95
QBID:10915148470

Meaning of AICPA is .

(1) The American Institute of Certified Public Admmistration.
(2) The American Institute of Certified Public Accountants.
(3) The American Institute of Charted Public Accountants.
(4) The American Institute of Certified Pupil Accountants.

TSR (AICPA) FT QU AW 2 :

1) T fEA setege o afdrEs ufes wsfafram
(2) T MANFA SKIeE % FEFEEs s THeeey
(3) 7 ifve SEiege i TS ufers ueride

(4) T ifiea S=e HfF affwss g ueaden

1[Option ID=29369]
2[Option ID=29370]
3[Option ID=29371]
4[Option ID=29372]

Sl. No.96




QBID:10915148471
Which of the following is not a business transaction 7

(1) Bought furniture of Rs.12,000/- for business

(2) Paid Rs.10.000/- for salaries of employees

(3) Paid son’s fees from her personal bank account Rs.10,000/-
(4) Paid Rs.5.000/- son’s fees from the business

FfiEs & 9§ -9t angaiis o434 78 8 7

(1) =OEEE % g 12,000 . @1 T S |

(2) FHaITEl & 309 BT 10,000 %. BT YIaH 2 |

(3) 9 F T dF @0 @ S 10,000 THE ST YT 54 |
(4) TEHIEE @d € 03 &1 5000 S5 &1 YiaH & |

1[Option ID=29373]
2[Option ID=29374]
3[Option ID=29375]
4[Option ID=29376]

Sl. No.97
QBID:10915148472

Assertion A : On the Given below basis of period. the different sources of funds can be categorized into three parts. One of them is long-
term sources.

Reason R : The long-term sources fulfil the financial requirements of an enterprise for a period exceeding 5 years and include sources
such as shares and debentures, long-term borrowings and loans from financial nstitutions.

In the light of the above statements ., choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

I o A R aw ¥ v sfEwys (Asetion Mg wu F fafga ¥ oA gEw 3§ oror (ReasonR) 5 g
mmAzmﬂﬁmﬁmﬁ%ﬁﬁ?ﬁrmﬁWﬂmﬂWWEW%1@?%%%%1

wRoT R Edeifen dia we saer 1 5 af & 396 B Al 3magedist H qid wd & 3R s R g BaeR, Sdafas
o1 3R i weunst & o afFefea &

I TUS & Hew & A BT T Rwedr § @ @l Sugw 36T O 90d ST |
(1) AR Regt aca & 3k RAR o cgrean

(2) Ak Reat acg & aftea R AR o8 e a8 &

(3) Awca § afea Raraca ¥

4 Azmaca & ofra Racg &

1[Option ID=29377]
2[Option ID=29378]
3[Option ID=29379]
4[Option ID=29380]

Sl. No.98
QBID:10915148473




Match List I with List IT

LISTI LISTIO

The scheme. suitable
for economically
weaker sections of
society

A.  Atal Pension Yojana L

Scheme offer

B E:E:}(l:}?ahlg?:gliro'ana I |accrlenial s
’ ) J disability cover
T _The scheme acts as an
C. : II.  mvestment for availing
Dhan Yojana :
old-age pension
Pradhan Mantri The scheme offers a
D. Jeevan Jyoti Bima IV. protection term
Yojana insurance

Choose the correct answer from the options given below :
(1) A-III, B-II, C-I, D-IV
(2) A-IL B-II C-IV, D-II
(3) A-IIL B-III, C-I, D-IV
(4) A-IV, B-1I, C-II1. D-1

T ' Ty g e Bee fifse

! !
TE Gie TH & e v |
A. S0 B T L HAGR 1 & 077 S9ged & |
B. "y #:A1 IReT ST JeE IE iﬁﬂﬁ]] ;W"a;ﬁ%%l -
T ToHT GHawl U= &1 H
C. Y S 4 gron 1L 3o & i ts fEm  su § a1
B
= TIo1 # UF OaT Sards s

D.u%rmﬁaﬁrsﬁaqmﬁéﬁmaﬁww.aﬁa PN S

A feu av fEeheul A A HE! ST T TS HIfAT:
(1) A-IL B-II. C-1, D-IV

(2) A-L B-II, C-IV, D-II

(3) A-IL B-III C-I, D-IV

(4) A-IV, B-1I, C-II1. D-1

1[Option ID=29381]

2[Option ID=29382]

3[Option ID=29383]
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Sl. No.99
QBID:10915148474

A bank reconcillation statement is prepared by :

(1) Creditors

(2) Bank

(3) Account holder in a bank

(4) Debtors
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Sl. No.100
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Which one of the following is not protected under copyright (literary work) ?
(1) Brochures

(2) Architectural Drawings

(3) Song Lyrics

(4) Computer Programme
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